T qomn

7QUNR’ NN KRR 37 P13 D 1pAY on DONEYR 222010 o LR LLYP
2731 2132 ,wan® 1R P2 T2 peen v oRn .2
Cp) 773n7 *PapRD IR QWD — 37 D12 ORI 02350 AN LA

LA DT 71D AT P13 DRI D3I PR GPREMY 2w IR S0P ROK AWM K X

NN PIYY 03 WBKRY) JN23YR WM NIPNI PRI LTI9I0 NXY OWRT DX N23yR 7T nNenl Lio .2
.oxnb 170 'y — PRINY 7NN 19

1 /APNY R PRY 09T TOY TIPW AN OnY 2°WwhP WK XY 07 7INn Y22pnw XMAT NIpon LA
.1ann Papm mpY P13 87 2wma 21 Anna-Twynn o oD

:DPN27 DD — (MW 7A7 DTA2) A9°1a7 §O92) DWNT N2IPR2 A9 nTmwn WK LDP

ANRYRR YT NRwa® RO5R (N TR 27N 1R oKl Nl K

12PN 20 BR PN LID) LTI DR jara YR A00n AR NRwRa %R owKT Nl .2
(2P0 KD XY ,OWNRT DR 2N

OO DR Wan KDY 200 NMmwn TNaYw RYK .2 Y0s .3

(X°P) IR NN PR WAN KDY mmawnn nw 1t "2y o7an T

J3NT2) YT 032 NP’ OWRT 0T OX 1971 030 *197 DWXT YIPpw YY W DX DONp X
wna Mpn - 790 ATM Y AR Pinma

I — DROMPY .0 KPw o3 19Apw BP TYTY ToIpw ,OURT PRX H03 I — AT P .2
— DWXT DX 27T 1270 722 OX) 0D 0T OWR PIpw OY TV DX 0Ipw 0D PR OwKT
JTYT 222 MR MR QWR K227 AN MY 2079 19N 5100

STV 9P AR LOWRT DX YT 232 12071 YT 1m0 LA

XV A5 U3 MY DNTAWR AT YPRWD TV 233 1MRp° 9 L2 yoad W7 N LT

"DUORDY DNAT = PRy D

2T IR IR 913 DR 2°WRP 20270 YWY OR7 = 17181 I RPN Mane bran K GRDP
(:X°P) 791337 A omn = TPORY MR N1 ,WRPNI KDY manm Yhan .2

NPT WX XD W API? AN wAT A OXT XA RPN T2 w1 npibnm — o 9TAT DX W
PR NRW W LPTIMR — DTIX T3 OWnw ,00Mm 2N 13T X 9T OX T30 L, PTIoD mwn
O7° a7 2VRR OPWOR PR LDPIRY NAD ,NATR APINT PR ONY VIR PRUM men v
PN Y0 1TAYNWIY L(MYPIR KPR 172N KP PRubunw XN JaT2) Mypap omaR

.V IV 72100 PN R T2 AT LA M 737 7203 57 A% XTI 27 MK .2

20aR N9*1a Yy Do3vp o 20 el onmY oNn WK L2DPR
(@°p) 79773 2357 W°IyA 2237 ONA — MR YW ATY TYY 7N .2

™37 1) .OM0M 01M0 AP — NnR X ORI 00D — MPIRW PAD ,NMTR PR A9TAT OX WK
.CoMy M3 XD 12 07003 NTNX PN

OX PaK ,7TW AMKR DY PAND TpM P PRWI XPIT LR WT2 %17 XOR DTNV TY DO1NMn PR .2
STRW TV 0mn ARRIY 0°37 PR ,PIRD P

(.2°p) 7POIIND D°2°°1 AN — TYIRY 717D OTPAN ORY mInw DUP1TA D AP

TOIX2 PRI 2PN *B7) MWD XDD 377 — MPIT OX) PV — D°031 NPINX OAR 077 AT XY OX
2109 9N RIPK — K29 L(TPRW 112 XD DIXT NYW2 XOKR 1 KD
2%



